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This quiz consists of:
Part 1: 10 Multiple Choice, True/False, Short Answer and Matching Questions (22 Marks)

Part 2: 5short and 2 long Coding Case Scenarios (38 Marks)

Please answer the questions below to the best of your ability based on your recent experience
using the ICD-11 coding system. Full use of the ICD-11 browser and coding tool are
permitted. Please highlight the correct answer or fill in the blanks.

Part 1

1. Pertaining to the code structure in ICD-11, the following are true (select all that apply)
(1 Mark): 1/1

a) Codes are alphanumeric

b) All codes start with a letter

c) An X at the start of a code indicates an extension code

d) The letters “O” and “I”” are not used

e) All of the above

2. There are several new chapters in ICD-11. Name two (2 Marks). 2/2
Conditions related to sexual health

Sleep-wake disorders
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3. ICD 11 MMS (Mortality and Morbidity Statistics) is a tabular list derived from the
foundation layer of ICD-11 (1 Mark). 1/1

True [J False [

4. Pre-coordination refers to using a stem code and an extension code(s) (1 Mark).1/1

True ] False (]

5. An extension code can only be used (1 Mark): 1/1
a) When the post-coordination feature is available at a code in the ICD-11 browser
b) With a stem code as its prefix; it cannot be assigned alone
¢) When no stem code is available

d) None of the above

6. One of the potential benefits of ICD-11 is that it will be able to be used in an electronic
environment (1 Mark). 1/1

True ] False [

7. Cluster coding refers to (1 Mark): 1/1
a) An entity that is classified in two different places, e.g. by site or by aetiology
b) A code that has multiple parents to fully describe one diagnosis
c) An entity or grouping of high relevance that is always described as one single category

d) A stem code that can be post coordinated, or used jointly with an extension code or
with another stem code to fully describe one diagnosis

8. List and describe the 3 part model when a harm or injury occurs to a patient, in the
order in which the 3 parts should be coded (3 Marks). 3/3

1. Harm: What condition does the patient have as a result of the harm or injury?

2. Cause: What medical intervention/drug/substance/or other healthcare issues caused the
injury or harm?
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3. Mode: How did the medical intervention/drug/substance or other healthcare issues
cause the harm? What was the mechanism?

9. InICD-11itis important to check the result in the tabular list browser for any
exclusions, inclusions and notes given at all levels of that category (1 Mark). 1/1

True ]

False [

10. Match the term on the left with the definitions on the right (10 Marks): 10/10

Term Answer Definition

1. Multiple Parenting | F A. Can stand alone

2. Sanctioning Rule G B. Electronic index for searching

3. Precoordination D C. Provides overview of coding guidelines

4. Benefit of ICD-11 J D. All details in one code

5. Stem code A E. Contains all clinical entities

6. Diagnosis Timing H F. An entity that may be classified in two different places
7. Main Diagnosis [ G. What can or cannot be done

8. Reference guide C H. Adds detail of pre or post admission occurrence

9. Foundation E I. Reason for admission as assessed at the end of the stay
10. Coding Tool B J. Meets needs of multiple users




